
Price List and Exploded ViewPrice List and Exploded View Effective 3/1/2007

Team Losi - A Division of Horizon Hobby Inc., 4710 E. Guasti Road, Ontario, CA 91761
(909) 390-9595  Fax:(909) 390-5356, www.TeamLosi.com - feedback@TeamLosi.com

A6951

A6931

A2908

A3327

A3039

A3319

A6910

A3317

A3253

A3326

A6120

A6406

A6936
A3253

A3254

A6106

A6239

A3327

A3304

A3303

A3318

A3970

A3070

A3018

A2908

A3322

LOSA4320 Battery Pad Foam (4) ............................................. $1.50
LOSA4322 Battery Trays .......................................................... $4.00
LOSA4324 Fan Mount Set ........................................................ $7.00
LOSA4325 Bulkhead/Motor Mount, Aluminum ..................... $24.99
LOSA4326 Left Rear Bulkhead, Aluminum ........................... $18.99
LOSA4327 Left Front Bulkhead, Aluminum .......................... $13.00
LOSA4328 Right Front Bulkhead, Aluminum ........................ $13.00
LOSA4329 Bulkhead Clamp, Aluminum ................................ $12.00
LOSA4330 Bulkhead Cap, Aluminum .................................... $12.00
LOSA4331 Chassis Supports, Aluminum ............................... $17.99
LOSA5014 O-Rings For Shock Cartridge (8) ........................... $1.99
LOSA5227 Silicone Shock Oil, 50Wt., 2oz .............................. $3.50
LOSA5310 10mm Shock Body 21mm Long ............................ $6.00
LOSA5316 10mm Shock Top Cap ............................................ $3.00
LOSA5317 10mm Shock Bottom Cap ...................................... $3.00
LOSA5319 10mm Shock Adjuster Nut (2) ............................... $5.50
LOSA5321 10mm Shock Plastic Set (4) ................................... $3.50
LOSA5323 10mm Series Shock Balls (4) ................................. $3.75
LOSA5324 Shock Standoff Set (4) ........................................... $7.00
LOSA5326 10mm Shock Rebuild Set (4) ................................. $5.00
LOSA5328 10mm Series Firm Bladders (4) ............................. $4.00
LOSA5330 10mm Ti-Nitride Shock Shaft, 27mm .................... $5.00
LOSA5341 10mm Shock Pistons, #56 (Red) (4) ...................... $3.00
LOSA5350 10mm Springs .75” x 17.5 Rate (2) ........................ $3.00
LOSA5353 10mm Springs .75” x 30 Rate (2) ........................... $3.00
LOSA6009 Ball Studs, Female 4-40 (6) .................................... $3.50
LOSA6017 Rod Ends, Captured (12) ........................................ $3.50
LOSA6025 Ball Studs & Ends, HD 4-40 x .215” ..................... $4.00
LOSA6026 Ball Studs & Ends, HD 4.40 x .250” ...................... $4.00
LOSA6030 Assembly Wrench................................................... $1.50
LOSA6054 Steel Pivot Ball Set (8) ........................................... $4.50
LOSA6080 Hinge Pins, 3/32  x .735”, TiN ............................... $2.00
LOSA6081 Hinge Pins, 3/32  x .930”, TiN ............................... $7.00
LOSA6091 Hinge Pins, 1/8  x 2.0625”, TiN ............................. $7.00
LOSA6094 Hinge Pins, 1/8  x  2.125”, TiN .............................. $7.00
LOSA6103 E-Clips, 3/32” ......................................................... $1.25
LOSA6106 E-Clips, 4mm (12) .................................................. $2.00
LOSA6120 O-Rings, 10 x 1mm (8) .......................................... $4.00
LOSA6204 Socket Head Screw, 4-40 x 1/2” (10) ..................... $1.50
LOSA6206 Socket Head Screws, 4-40 x 3/8” (10) ................... $1.50
LOSA6210 Flat Head Screws, 4-40 x 3/8” (10) ........................ $1.50

Team Losi, A Division of Horizon Hobby, Inc. Not Responsible for Typographical Errors Prices Subject to Change Without Notice

P/N 800-0311

LOSA1217 Front Suspension Arms, EA3 ................................. $7.50
LOSA1218 Front Upper Suspension Arms, EA3 .................... $10.00
LOSA1233 Spindle Carrier Bushings & Hardware ................... $5.00
LOSA1546 Servo Saver Hardware ............................................ $6.50
LOSA1547 Steering, Servo Saver & Mounts ............................ $5.50
LOSA1548 Steering Rack ......................................................... $8.00
LOSA1549 Steering Posts ......................................................... $4.00
LOSA2127 Rear Hub Spacer ..................................................... $2.50
LOSA2223 Rear Suspenson Arms, EA3 ................................... $7.50
LOSA2908 Monster Diff Square Spring/Screw Set .................. $5.00
LOSA3018 HD Thrust Bearing Set ........................................... $4.50
LOSA3039 Diff Drive Rings & Shims ...................................... $2.50
LOSA3065 Losi Diff Lube ........................................................ $2.50
LOSA3066 Super Stick Assembly Grease................................. $2.50
LOSA3070 Tranny Drive Rings ................................................ $2.00
LOSA3253 Top Shaft Hardware ................................................ $2.00
LOSA3254 Top Shaft ................................................................ $3.00
LOSA3260 Wheel Hex Drives-Standard & Metric ................... $5.00
LOSA3303 Front Drive Belt ..................................................... $9.50
LOSA3304 Rear Drive Belt ....................................................... $8.50
LOSA3316 Diff Bearing Eccentric ............................................ $4.50
LOSA3317 Diff Tube, Aluminum ........................................... $14.00
LOSA3318 Diff Hub ................................................................. $8.00
LOSA3319 Diff Outdrive .......................................................... $6.00
LOSA3322 Center Pulley Hub, Pin Drive, Aluminum .............. $6.00
LOSA3326 Diff Pulley Set, 41 & 42 (Black) ............................ $7.50
LOSA3327 Drive Pulley Set & Drive Hub (Black) .................. $7.00
LOSA3335 LCD Rebuild Kit (2) .............................................. $9.00
LOSA3339 RCD Axle, Metric .................................................. $5.00
LOSA3340 RCD Dogbone, 45mm ............................................ $7.50
LOSA3341 RCD Rebuild Kit .................................................... $7.00
LOSA3345 LCD Axle, Metric ................................................... $6.50
LOSA3346 LCD Dogbone, 45mm ............................................ $7.50
LOSA3970 128T/64P Kevlar Spur ............................................ $4.00
LOSA4003 Antenna Caps ......................................................... $1.25
LOSA4004 Servo Tape .............................................................. $1.75
LOSA4006 Antenna Kit w/Set Screw ....................................... $1.50
LOSA4234 Foam Front Bumper ............................................... $4.00
LOSA4239 Body Post & Bumper Set ....................................... $6.50
LOSA4304 Chassis Top Plate, 2.75mm, Graphite .................. $23.99
LOSA4305 Chassis Plate, 2.75mm, Graphite.......................... $79.99

LOSA3012 Brown Diff Grease ................................................. $2.00
LOSA3328 41T Spool Pulley .................................................... $9.99
LOSA3329 42T Spool Pulley .................................................... $9.99
LOSA3338 RCD Driveshaft Set, 45mm ................................. $30.99
LOSA3344 LCD Driveshaft Set, 45mm .................................. $35.99
LOSA3355 One-Way Kit ......................................................... $55.99
LOSA3356 Front One-WayTube w/Bearings .......................... $41.99
LOSA3357 One-Way Outdrive ................................................. $7.99
LOSA3968 118T/64P Kevlar Spur Gear ................................... $4.00
LOSA3969 126T/64P Kevlar Spur Gear ................................... $4.00
LOSA4252 Sway Bar Set, Front/Rear (4 Bars) ....................... $14.99
LOSA4311 Routed Battery Tray, 2.75mm, Graphite .............. $14.99
LOSA5301 10mm Sedan Shock Set ........................................ $69.99
LOSA5340 10mm Shock Pistons, #55 (Orange) (4) ................. $3.00
LOSA5342 10mm Shock Pistons, #57 (Black) (4) ................... $3.00
LOSA5343 10mm Shock Pistons, #60 (White) (4) ................... $3.00
LOSA5347 10mm Springs, .75” x 10.5 Rate (2) ....................... $3.00
LOSA5348 10mm Springs, .75” x 12.5 Rate (2) ....................... $3.00
LOSA5349 10mm Springs, .75” x 15 Rate (2) .......................... $3.00

Option PartsOption Parts
LOSA5351 10mm Springs, .75” x 20 Rate (2) .......................... $3.00
LOSA5352 10mm Springs, .75” x 25 Rate (2) .......................... $3.00
LOSA5354 10mm Springs, .75” x 35 Rate (2) .......................... $3.00
LOSA5355 10mm Springs, .75” x 42.5 Rate (2) ....................... $3.00
LOSA5356 10mm Springs, .75” x 50 Rate (2) .......................... $3.00
LOSA5357 10mm Springs, .75” x 60 Rate (2) .......................... $3.00
LOSA5358 10mm Springs, .75” x 70 Rate (2) .......................... $3.00
LOSA9696 Outer Pivot Block, 1deg, Aluminum .................... $14.00
LOSA9739A Front Suspension Arms, Graphite, JRX-S ............ $10.99
LOSA9760 Front Spindles & Carriers, 0deg, EA3 ................. $10.00
LOSA9761 Front Spindles & Carriers, 2deg, EA3 ................. $10.00
LOSA9763 Front Spindles & Carriers, 6deg, EA3 ................. $10.00
LOSA9764 Front Spindles & Carriers, 8deg, EA3 ................. $10.00
LOSA9866 Rear Hub Carrier, 0.5deg, EA3 .............................. $6.00
LOSA9867 Rear Hub Carrier, 1deg, EA3 ................................. $6.00
LOSA9868 Rear Hub Carrier, 0deg, Offset, EA3 ..................... $6.00
LOSA9869 Rear Hub Carrier, 0.5deg, Offset, EA3 .................. $6.00
LOSA9870 Rear Hub Carrier, 1deg, Offset, EA3 ..................... $6.00
LOSA99010 Cargo Bag Box Set (3) ......................................... $15.99

LOSA9690 Inner Pivot Block Set, Aluminum ........................ $18.99
LOSA9695 Outer Pivot Block, 0deg, Aluminum .................... $14.00
LOSA9697 Outer Pivot Block, 2deg, Aluminum .................... $14.00
LOSA9746 Front Shock Tower, Graphite ............................... $13.00

LOSA9760 Front Spindles & Carriers, 0deg, EA3 ................. $10.00
LOSA9762 Front Spindles & Carriers, 4deg, EA3 ................. $10.00
LOSA9842 Rear Shock Tower, Graphite ................................ $14.00
LOSA9865 Rear Hub Carrier, 0deg, EA3 ................................. $6.00



A4326
A5014 A4325

A9760

A4328

A4327

A4305

A3316

A4330

A4329

A4329
A4330

A9746

A5324

A5324

A6256
A6256

A6206
A6215

A6245
A6009

A6232

A6360

A6360

A6232

A6213

A6213

A6213

A6248

A6017 A6227

A6103A6080

A6256

A6532
A6017

A6229

A6103
A6215

A6229
A6103

A1547
A6350
A6204

A1547

A6025

A6210

A6210

A6234
A6213

A4331

A4331

A4320

A4322

A6212

A6255

A6255A6236

A4324

A3340

A3341

A3341

A6248

A6406

A3339

A6916
A9865

A6251

A6365

A6916

A6916

A6916

A6230

A6230

A6365

A6026

A6026

A6017
A6532

A3260

A3260

A6406

A6054

A6054

A6054
A6054

A6243

A6243

A2127

A2127

A2127

A2223

A6081

A6091

A6094

A6081

A6251

A1546

A9695

A6315

A6245

A3345
A3335

A3346

A1218

A9762

A1233

A9690

A9690

A9697

A6243

A4239

A9842

A6245

A6054

A6229

A1217

A6257

A6917
A1549A6025

A6025

A1547

A1218

A6248

A1547

A1546

A1548

A1548

A1547

A1547

A4239

A4304

A6257

A6234
A6229

A6210

A4234

A6213

A4239
A6306

A4003

A4006

A6227 A4006

A8200

A6243

A8200

A3316

A6315

A3335

A4239

A5014

lbf

A5321

30

A5316

A5321

A5328

A5323

#56

A5310

A5317

A6255

in

A5341

A5330

A5353

A5319

lbf
17.5

A5350

in

A5326

LOSA6251 Set Screws, 5-40 x 3/16” (10) ................................ $2.00
LOSA6255 Button Head Screws, 2-56 x 1/4” (10) ................... $2.50
LOSA6256 Button Head Screws, 4-40 x 1/2” (6) ..................... $1.50
LOSA6257 Button Head Screws, 4-40 x 3/16” (10) ................. $2.00
LOSA6306 Aluminum Mini-Nuts, 4-40 (10) ............................ $3.50
LOSA6315 Wheel Nuts, Aluminum, M4 x 0.7MM (8) ............ $6.00
LOSA6350 #4 and 1/8” Hardened Washers .............................. $2.50

LOSA6360 Bulkhead Washers (10) ........................................... $5.00
LOSA6365 Hub Bearing Spacer & Shim Set ............................ $4.50
LOSA6401 Pins, Wheel & Gear ................................................ $1.25
LOSA6406 1/16 Pin Assortment, 5/16”, 3/8”, 7/16” ................. $2.50
LOSA6532 Ti-Turnbuckle 14.6x3mm (2) ................................. $8.50
LOSA6910 Ball Bearings w/Shields, 1/2” x 3/4” ................... $11.50
LOSA6916 Ball Bearings w/Shields, 3/16” x 3/8”.................... $5.50
LOSA6917 Ball Bearings w/Shields, 4 x 7mm (4) ................... $8.00
LOSA6931 Clutch Bearings, 1/4” x 3/8” ................................ $11.50
LOSA6936 Ball Bearings w/Shields, 4 x 8mm (2) ................... $5.00
LOSA6951 Carbide Diff Balls, 3/32” ...................................... $10.95
LOSA8200 Body Clips .............................................................. $1.25
LOSA8335 Sticker Sheet ........................................................... $4.00

LOSA6212 Button Head Screw, 4-40 x 1/8” (4) ....................... $1.25
LOSA6213 Flat Head Screw, 4-40 x 1/4” (6) ............................ $1.25
LOSA6215 #4 Narrow Washers (10) ......................................... $1.25
LOSA6227 Hardened Set Screws, 4-40 .................................... $1.80
LOSA6229 Button Head Screws, 4-40 x 3/8” (10) ................... $2.00
LOSA6230 Shim Set: 3/16”, 1/4”, 1/2” ..................................... $2.50
LOSA6232 Socket Head Screws, 2-56  x 1/4” (10) .................. $2.50
LOSA6234 Button Head Screws, 4-40 x 1/4” (10) ................... $2.50
LOSA6236 Button Head Screws, 2-56 x 1/2” (8) ..................... $2.50

LOSA6238 Motor Screw Kit, 3 x 6mm ..................................... $3.00
LOSA6239 Flat Head Screws, 2-56 x 3/16” (8) ........................ $2.00
LOSA6243 Locating Pin Screws, 4-40 (4) ................................ $2.50
LOSA6245 Button Head Screws, 4-40 x 5/16” (10) ................. $2.00
LOSA6248 Set Screw Assortment, 4-40 (11) ............................ $3.00


